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PROFIT & LOSS Worksheet 
 

 

BOOK SOURCE SPLIT UP  
 

S.No TITLE STD NEW OLD TERM Exercise 

  
 
Profit & Loss  

6th NEW  2 3.1, 3.2 

7th NEW 3 2.3 

7th OLD 3 2.4 

8th NEW 2 1.1 

8th OLD 3 1.1 

R.S. AGGARWAL  
(2020 Edition)  

Page No: 374 – 425  

 

 Profit and Loss:  
 Cost Price (C.P)  
 The amount for which an article is bought is called its Cost Price  (C.P) 
 
 Selling Price (S.P)  
 The amount for which an article is sold is called its Selling Price (S.P)  
 
 Profit or Gain  
  When the S.P is more than the C.P, then there is a profit or gain.  
  Therefore, Gain/Profit =S.P – C.P  
 
 Loss 
  When the S.P is less than the C.P, then there is a loss.  
  Therefore, Loss = C.P – S.P  
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 It is to be noted that the profit or loss is always calculated on the cost 
 price. 
 
 
 Formulae:  

 i. Gain or Profit% = Pr
100 %

.

ofit

C P

 
 

 
 

 ii. Loss% = 100 %
.

Loss

C P

 
 

 
 

 iii. S.P. = 
(100 Pr %)

100

ofit
 × C.P. (or) C.P = 

100
.

100 Pr %
S P

ofit

 
 

 
 

 iv. S.P = 
(100 %)

100

Loss
 × C.P. (or) C.P = 100

.
(100 %)

S P
Loss




 

  
 Discount:  

 In order to increase the sale and also to clear the old stock during the month 
 of Aadi and festival seasons, shopkeepers offer a certain percentage of rebates 
 on the marked price of the articles. This rebate is known as discount.  

 
 Marked price  
 In big shops and departmental stores, we see that every product is tagged 
 with a card with a price written on it. The price marked on it is called the 
 marked price.  
 
 Based on this marked price only, the shopkeeper offers a discount of certain 
 percentage. The price payable by the customer after deduction of discount is 
 called the selling price.  

 
  That is, Selling Price = Marked Price – Discount 

 

Work Sheet  
 

Level - 1 
 
1. A table is bought for Rs.4500 and sold for Rs.4800. Find the profit or 

loss. 
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xU NkirahdJ & 4500 f;F thq;fg;gl;L & 4800 f;F tpw;fg;gLfpwJ 
vdpy; ,yhgk; my;yJ el;lk; fhz;f.  
a. Rs.3000  b. Rs.300  c. Rs.500  d. Rs.800  
 

2. Pari bought a motor cycle for Rs.55,000 and he gained Rs.5500 on selling 
the same. What is the selling price of the motor cycle? 
ghhp Xh; ce;J tz;bia & 55>000 f;F thq;fp & 5500 ,yhgj;jpw;F 
tpw;gid nra;jhh; vdpy; ce;J tz;bapd; tpw;gid tpiy vd;d?  
a. Rs. 60000  b. Rs. 60,500  c. Rs. 61,500   d. Rs. 49,500  
 

3. Valarmathi sold her pearl set for Rs.30,000 at profit of Rs.5000. Find the 
cost price of the pearl set? 
tsh;kjp jd;Dila Kj;J khiyia & 30,000 f;F tpw;gid nra;J> 
mjdhy; ,yhgk; & 5000 ngWfpwhh; vdpy; Kj;J khiyapd; mlf;f 
tpiyiaf; fhz;f.  
a. 25,000  b. 35,000  c. 38,000  d. 40,000 
 

4. A shopkeeper buys three articles for Rs.325, Rs.450, Rs.510. He is able to 
sell them for Rs.350, Rs.425 and Rs.525 respectively. Find the gain or loss 
to the shopkeeper on the whole? 
xU tpw;gidahsh; %d;W nghUl;fis & 325, & 450 kw;Wk; & 510 
vd thq;Ffpwhh;. mtw;iw KiwNa & 350, & 425 kw;Wk; & 525 vd 
tpw;gid nra;fpwhh;. mtUila nkhj;j ,yhgk; my;yJ el;lk; fhz;f.  
a. Rs. 10  b. Rs. 5  c. Rs. 15  d. Rs. 20 
 

5. If Guna marks his product to be sold for Rs.325 and gives a discount of 
Rs.30 then find the S.P? 
Fzh jdJ nghUis & 325 vd Fwpj;J & 30 js;Sgbapy; tpw;gid 
nra;fpd;whh; vdpy;> tpw;gid tpiyiaf; fhz;f.  
a. Rs. 295  b. Rs. 285  c. Rs. 275  d. Rs. 305 
 

6. A man buys a chair for Rs.1500. He wants to sell it at a profit of Rs.250 
after making a discount of Rs.100. What is the M.P of the chair? 
xUth; xU ehw;fhypia & 1500 f;F thq;fpdhh;. js;Sgb & 100 mspj;j 
gpd; & 250 ,yhgk; ngWkhW tpw;gid nra;a tpUk;gpdhh; vdpy; 
ehw;fhypapd; Fwpj;j tpiy vt;tsT?  
a. Rs. 1950  b. Rs. 2050  c. Rs. 1850  d. Rs. 1750 
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7. Raghu buys a chair for Rs.3000. He wants to sell it at a profit of Rs.500 
after making a discount of Rs.300. what is the M.P of the chair? 
,uF xU ehw;fhypia & 3000 f;F thq;Ffpwhh;. me;ehw;fhypapd; 
tpiyapy; & 300 js;Sgb nra;j gpd; & 500 ,yhgk; ngWfpwhh; vdpy; 
me;ehw;fhypapd; Fwpj;j tpiy vd;d?  
a. Rs. 3500  b. Rs. 4500  c. Rs. 4000   d. Rs. 3800  
 

8. A man bought 75 mangoes for Rs.300 and sold 50 mangoes for Rs.300. If 
he sold all the mangoes at the same price, find his profit or loss? 
xUth; & 300 f;F 75 khk;goq;fis thq;fp mtw;wpy; 50 khk;goq;fis 
& 300 f;F tpw;gid nra;jhh;. midj;J khk;goq;fisAk; mNj 
tpiyapy; tpw;why; tUfpd;w ,yhgk; my;yJ el;lk; fhz;f.  
a. Rs. 150  b. Rs. 50  c. Rs. 25  d. Rs. 100 
 

9. Mangai bought a cell phone for Rs.12585. It fell down. she spend Rs.500 
on its repair. she sold it for Rs.7500. Find her profit or loss? 
kq;if xU miyNgrpia & 12585 f;F thq;fpdhh; mJ fPNo tpOe;J 
gOjhfp tpl;lJ. mijr; rhp nra;a & 500 nryT nra;J mij mth; & 
7500 f;F tpw;gid nra;jhh;. mtUila ,yhgk; my;yJ el;lk; fhz;f.  
a. Rs. 5500 loss     b. Rs. 5565 loss 
c. Rs. 5585 profit    d. Rs. 5585 loss 
 

10. An electrician buys a used T.V for Rs. 12,000 and a used fridge for Rs. 
11,000. After spending Rs. 1000 on repairing the T.V and Rs. 1500 on 
painting the fridge, he fixes up the M.P of TV as Rs.16,000 and that of 
fridge as Rs. 15,500. If he gives Rs. 1000 discount on each find his profit 
or loss/ 
xU vyf;l;hPrpad; gad;gLj;jg;gl;l njhiyf;fhl;rpg; ngl;b xd;iwAk;> 
Fsph;rhjdg; ngl;b xd;iwAk; KiwNa & 12000-f;Fk;> & 11>000 f;Fk; 
thq;fpdhh;. njhiyf;fhl;rpg; ngl;biar; rhp nra;a & 1000 ck;> 
Fsph;rhjdg; ngl;bf;F tz;zk; nra;a & 1500 ck; nryT nra;j gpd; 
njhiyf;fhl;rp ngl;bf;F & 16000 kw;Wk; Fsph; rhjdg; ngl;bf;F & 
15>500 vd tpiy eph;zak; nra;jhh;. ,it xt;nthd;Wf;Fk; & 1000 
js;Sgb xt;nthd;wpw;Fk; nra;jhh; vdpy; mtUila ,yhgk; my;yJ 
el;lk; fhz;f.  
a. Rs. 2000 loss each   b. Rs. 2000 profit each 
c. Rs. 2500 loss each   d. Rs. 2500 profit each 
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Level-2  
 

11. Sanjay bought a bicycle for Rs.5000. He sold it for Rs.600 loss after two 
years. Find the loss percent? 
rQ;[a; kpjptz;bia & 5000 f;F thq;fpdhh;. ,uz;L tUlq;fSf;F 
gpwF> & 600 Fiwj;J tpw;whh;. vdpy; kpjptz;bapd; el;l rjtPjj;ijf; 
fhz;f.  
a. 10%   b. 8%  c. 18%  d. 12% 
 

12. Hameed buys a colour T.V. set for Rs. 15,200 and sells it at a loss of 20% 
what is the selling price of the TV set?  
`kPJ xU tz;zj; njhiyf;fhl;rpg; ngl;bia & 15>200 f;F 
thq;Ffpd;whh;. ,jid 20% el;lj;jpw;F tpw;whh; vdpy;> 
mj;njhiyf;fhl;rpg; ngl;bapd; tpw;gid tpiy vd;d?  
a. Rs. 12, 360  b. Rs. 12,260 c. Rs. 12,160 d. Rs. 12,460  
 

13. A scooty is sold for Rs. 13,600 and fetches a loss of 15%. Find the cost 
price of the scooty.  
xU ];$l;bia & 13,600 f;F tpw;gid nra;Ak;nghOJ 15% el;lk; 
MfpwJ vdpy;> mjd; cz;ik tpiy vd;d?  
a. Rs. 15000 b. Rs 16000 c. Rs. 18000 d. Rs. 12000  
 

14. Vinoth purchased a house for Rs.27,50,000. He spent Rs.2,50,000 on 
repairs and painting. If he sells the house for Rs.33,00,000. What is his 
profit or loss%? 
xU tPl;il tpNehj; & 27>50>000 f;F thq;fpdhh;. mth; tPl;il rPh; 
nra;tjw;fhf & 2>50>000 I nrytpLfpwhh;. me;j tPl;il & 33>00>000 f;F 
tpw;fpwhh;. vdpy;> ,yhg (m) el;l rjtPjj;ijf; fz;Lg;gpbf;fTk;.  
a. 15%  b. 5% ;  c. 20%  d. 10%  
 

15. A fruit seller bought 8 boxes of grapes at Rs.150 each. One box was 
damaged. He sold the remaining boxes at Rs.190 each. Find the profit / 
loss percent? 
xU go tpahghhp 8 ngl;b jpuhl;irfis> xU ngl;b & 150 vd;w tPjk; 
thq;fpdhh;. mjpy; xU ngl;b jpuhl;ir mOfp tpLfpwJ. kPjKs;s 
ngl;bfis xU ngl;b & 190 vd;w tpiyf;F tpw;fpwhh;. ,yhg / el;l 
rjtPjj;ijf; fhz;f.  
a. 10.83% profit  b. 16% profit c. 15% loss  d. 14% loss 
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16. The cost price of 11 pens is equal to the selling price of 10 pens. find the 
loss or gain percent.  
11 Ngdhf;fspd; mlf;ftpiy 10 Ngdhf;fspd; tpw;w tpiyf;Fr; rkk;. 
vdpy; ,yhg my;yJ el;l rjtPjj;ijf; fhz;f.  
a. 5% profit   b. 10% profit  c. 10% loss  d. 20% loss  
 

17. The cost price of 16 note books is equal to the selling price of 12 books. 
find the gain percent. 
16 Nehl;Lg; Gj;jfq;fspd; mlf;f tpiy 12 Nehl;L Gj;jfq;fspd; 
tpw;gid tpiyf;Fr; rkk;. ,jd; ,yhg rjtPjj;ijf; fhzTk;.  

a. 33 
1

3
% profit   b. 20% profit  c. 25% profit   d. 30% profit  

 
18. A bicycle marked at Rs. 1500 sold for Rs. 1350. what is the percentage of 

discount?  
xU kpjptz;bapd; tpiy & 1500 vd;W Fwpf;fg;gl;Ls;sJ. ,jid & 
1350f;F tpw;why; js;Sgb rjtPjk; vd;d?  
a. 10%  b. 20%  c. 5%  d. 25%  
 

19. The list price of a frock is Rs. 220. A discount of 20% on sales is 
announced. What is the amount of discount on it and its selling price? 
Xh; cilapd; gl;bay; tpiy & 220. mjd; tpw;gidapy; 20% js;Sgb 
vd;W mwptpf;fg;gl;Ls;sJ cilapd; Nky; js;Sgb vt;tsT? mjd; 
tpw;gid tpiy vd;d?  
a. Rs. 44, Rs. 176     b. Rs. 54, Rs. 166 
c. Rs. 74, Rs. 156     d. Rs. 44, Rs. 186  
 

20. Sara baked cakes for the school festival. The cost of one cake was Rs.55. 
She sold 25 cakes and made a profit of Rs.11 on each cake. Find the 
profit percent? 
xU gs;spapd; tpohtpw;fhf rhuh> Nff; nra;jhs; xU Nff;fpd; mlf;f 
tpiy & 55 MFk;. mts; xt;nthU Nff;ifAk; & 11 ,yhgj;jpw;F 
tpw;fpwhs;. 25 Nff;Ffis tpw;wpUe;jhy; fpilf;Fk; ,yhg rjtPj;ij 
fhz;f.  
a. 20%  b. 25%  c. 30%  d. 15% 
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Level- 3 
 

21. A shopkeeper allows a discount of 10% to his customers and still gains 
20%. find the marked price of an article which costs Rs. 450 to the 
shopkeeper. 
xU filf;fhuh; jd; thbf;ifahsh;fSf;F 10% js;Sgb je;Jk;> 20% 
,yhgk; milfpd;whh;. xU nghUspd; cz;ik tpiy & 450 vdpy; 
mg;nghUspd; Fwpj;j tpiyiaf; fhz;f.  
a. Rs. 600  b. Rs. 540  c. Rs. 800  d. Rs. 900  
 

22. A television set was sold for Rs. 14,400 after giving successive discounts 
of 10% and 20% respectively. what was the marked price  
njhlh; js;Sgbfs; KiwNa 10%, 20% vd;wthW xU njhiyf;fhl;rpg; 
ngl;bf;F nfhLj;J Rs. 14,400 f;F tpw;fg;gLfpwJ vdpy; mjd; Fwpj;j 
tpiy vd;d?  
a. Rs. 15,000 b. Rs. 18,000 c. Rs. 20,000 d. Rs. 25,000  
 

23. Priya bought a Suitcase for Rs. 2730. The VAT (value added Tax) for this 
item is 5%. What was the price of the Suitcase before VAT was added?  
gphpah & 2730 f;F xU #l;Nf]; thq;fpdhh;. ,jd; kPJ kjpg;G $l;L thp 
5% MFk;. kjpg;G $l;L thpiar; Nrh;f;Fk; Kd;dh; mg;ngl;bapd; tpiy 
vd;d?  
a. Rs. 2500  b. Rs. 2600  c. Rs. 2700  d. Rs. 2800  
 

24. Find the single discount which is equivalent to two successive discount 
of 25% and 20% given on an article.  
xU nghUspd; kPJ toq;fg;gLk; ,U njhlh; js;Sgbfs; KiwNa 25% 
kw;Wk; 20% vdpy;> ,jw;Fr; rkkhd js;Sgbr; rjtPjj;jpidf; fhz;f.  
a. 20%   b. 30%  c. 40%   d. 50% 
 

25. A man sold two varieties of his dog for Rs. 3,605 each on one he mode a 
gain of 15% and on the other a loss of 9% Find his total Cost price.. 
(Approximate). 
xUth; jd;dplKs;s xU ehapid 15% ,yhgj;jpw;F & 3605 f;Fk; 
jd;dplKs;s kw;nwhU ehapid 9% el;lj;jpw;F & 3605 f;Fk; tpw;whh; 
vdpy;> (Njhuhakhf) nkhj;j mlf;f tpiyiaf; fhz;f. .  
a. Rs. 7095   b. Rs. 7195  c. Rs. 6995  d. Rs. 7250  
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26. A trader buys a article for Rs. 1,200 and marks it 30% above the C.P. He 
then sells it after allowing a discount of 20%. Find the profit percent. 

 xU tpahghhp xU nghUis &.1>200 thq;fpdhh;. gpd;G mjd; mlf;ftpiyf;F 

 Nky;  30% mjpfkhf Fwpj;J mjpypUe;J 20% js;Sgb nfhLf;fpwhh;. tpw;w 
 tpiyapd; yhg rjtPjk; vd;d? 

 a. 5%   b. 4½ %  c. 4%   d. 6% 
 

27. By selling a speaker for ₹768, a man loses 20%. In order to gain 20% how 
much should he sell the speaker? 
Xh; xypg;ngUf;fpia & 768 f;F tpw;gjhy;> xU egUf;F 20% el;lk; 

Vw;gLfpwJ. 20% ,yhgk; fpilf;f> xypg;ngUf;fpia mth; vd;d tpiyf;F 
tpw;f Ntz;Lk;?  
a. Rs. 1142  b. Rs. 1152   c. Rs. 1162  d. Rs. 1172  
 

28. A man sold two Articles at Rs. 375 each. On the first article, he gains 
25% and on the other he losses 25%. Find the gain or loss percent in the 
whole transaction. 
xUth; ,U nghUl;fis xt;nthd;iwAk; & 375-f;F tpw;fpd;whh;. Kjy; 
nghUspy; 25% ,yhgKk; kw;nwhd;wpy; 25% el;lk; milfpwhh;. vdpy; 
nkhj;j tpahghuj;jpy; Vw;gl;l ,yhg my;yJ el;l rjtPjj;ij fhzTk;.  

a. 6 
1

4
% profit   b. 6 

1

4
% loss c. 8% profit  d. 6% loss  

 

29. The market price of new brand watch is 15% higher than its original 
price. Due to increase in demand, the price is further increased by 10%.  
How much profit will be obtained in selling the watch? (in %) 
xU Gjpa fbfhuj;jpd; tpw;gid tpiy mjd; cz;ik tpiyia tpl 
15% mjpfk;.  NkYk; mjd; Njitiag; nghUj;J kPz;Lk; 10% mjpf 
tpiyNaw;wk; nra;ag;gl;lhy;> me;j fbfhuj;ij tpw;Fk; NghJ fpilf;Fk; 
nkhj;j yhgk; vt;tsT rjtPjk;? 
a. 25%  b. 35%  c. 26.5%  d. 27% 
 

30. A women bought some eggs at the rate of 4 eggs for  ì 18 and sold them 
at the rate of 5 eggs for ì 24. She gained ì 90 in selling all the eggs. How 
many eggs did she buy?  
xU ngz; 4 Kl;ilfis ì 18 tPjk; thq;fp 5 Kl;ilfis ì  24 tPjk; 
tpw;fpwhs;. thq;fpa midj;J Kl;ilfisAk; tpw;wjpy; mts; & ì  90 I 
,yhgkhfg; ngw;whs; vdpy;> mts; thq;fpa Kl;ilfspd; vz;zpf;if 
vt;tsT?  
a. 200   b. 400  c. 500  d. None of these  
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PROFIT & LOSS Worksheet Answer Key  
 

 

1 2 3 4 5 6 7 8 9 10 

B B A C A C D A D B 

11 12 13 14 15 16 17 18 19 20 

D C B D A B A A A A 

21 22 23 24 25 26 27 28 29 30 

A C B C A C B B C D 

 

 


